
7- The follorving functions have the rule /(x) : 4 cos b(* - h) + k'

Find the zeros of each function over

1 . the interval fh, h + p] where p is the period of the function.

2. the set of all real numbers.

a) f (*):z cos 
fr(x - z)+ t

x=6 or x=74
l.s=[6,70] I. S = !O.26;3.751

2. S = [6 + 72nlt t {LO + 12n} 2. S = {O.26 + 6nl r: 13.75 + 6nl

b) f (*):-2 cos l(" + 1)+ 
+

cos{(x +D=+

2r*-u=+o,|{x-4-E_ |{* * 7) = 1.32 o, !{* + 1) = a.e7

x = O.26 or x = 3.75

c) f (x): cos 2(x - n) + i

cos 2(x - tt) = -7

:

I

ll

\9

{

t

0

. 3trx= 2

d) f(x):2.or[r*;J-S
I .l J3cosIx + z)= 2

TTrTIl**V= A orx+ 2= 6

rt 4rx=-3or r= 
3

2(x-r)=11

'"=l+] I. S= T+,TI
2. s=lT.""l 2. s=l;.2*"1"[ff.2,"]

e) f (*): -3 cos \x + 6

coslx=2

f (x):- 2 cos fr(" + z) -
f(** z)=f ",|(

.,1,

1.5=A
2. S =A x=4 x=8

t. S=14,81
2. S = [4 + L6n] r: 18 + 16nl

Determine the zeros of the function f (*):-2 cos fr(t + 5)- 1 over the interval [66, 126]'

Tl -\ 1
cos ';tx + 5 )= --

f(** 2)=+o,|(*.2)=T

8-

tt -\ 2r rt/ -\ 4tt
firx+5)=iorfi\x+5)=-T

x=3 or x=71
The zeros ouer the intetual [66, 726 are 75, 83,99, 7O7, 1'23.
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